OFF R

REBEL OFF ROAD BAK-PAX TAILGATE DELETE
FOR JEEP WRANGLER JK AND JL

o u;m O
PROUDLY BUILy By

REBEL OFF Rysp

PLEASE READ ALL INSTALLATION INSTRUCTIONS CAREFULLY AND IN
ENTIRETY PRIOR TO INSTALLING.

Approx. time required for installation: 1 hour

TOOLS REQUIRED: PARTS INCLUDED

3/8” DRIVE RATCHET QTY 1: BAK-PAX PLATE

13MM SOCKET QTY 1: LICENSE PLATE MOUNT
SHORT PHILLIPS HEAD SCREWDRIVER QTY 1: BACKUP CAMERA MOUNT
3/16” HEX KEY QTY 1: REBEL TAG

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



HARDWARE INCLUDED:

QTY 1: WING SCREW

QTY 3: M4-40 PHILLIPS SCREW

QTY 4: M10-32 NYLOCK NUT

QTY 1: M6-32 PHILLIPS SCREW

QTY 1: M6-32 NYLOCK NUT

QTY 4: M10-32 BLACK PHILLIPS SCREW
QTY 4: 5/16-18 HEX DRIVE SCREW

Step 1:
Lay out the components and hardware on a clean surface for assembly.

Remove the factory spare tire, backup camera (if equipped) and spare tire mount. Do not
discard the eight factory bolts that secure the factory spare tire mount to the tailgate. Remove
the factory air vents from the tailgate.

1S

NS s

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



Step 2:
If your Jeep has a factory backup camera, unplug the connector from the camera and reroute
the wire through the large opening where the air vent was installed.

Now is the best time to route any wiring for your accessories, such as a third brake light,
auxiliary lights, or antenna cables through the outer holes surrounding the air vent openings.
Do not route any wiring through the threaded holes.

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



Step 3:

Using the supplied four black phillips head screws, secure the Rebel Off
Road name plate to the Bak-Pax plate.

Next, secure your Rotopax mounts to the Bak-Pax plate using the four
supplied hex drive flat head countersunk screws. Insert the screws through
the back of the Bak-Pax plate and use a 3/16” hex key to tighten the
Rotopax mounts down. You will use two screws per Rotopax mount.

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



Step 4:
If you are installing a Jeep JK kit, skip to step 5

Using the three supplied M4-40 Phillips screws and nylock nuts, secure the
factory backup camera to the backup camera mount.

Slide the camera and camera mount into the camera perch through the back
side of the Bak-Pax plate. Line up the remaining hole in the camera mount with
the hole in the top of the camera perch. Secure the camera mount to the perch
using the supplied single M6-32 x 3/4” Phillips screw and nylock nut.

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



Step 5:

Using the eight factory bolts you removed in step 1, mount the Bak-Pax
plate to the tailgate. Finger tighten these bolts only. Ensure you haven’t
pinched any wiring or cables during the installation.

Continue to route any necessary wiring for your accessories or antennas as
needed.

&

LNy S e,

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



Step 6:

When all wiring is routed properly, use a 3/8” ratchet wrench and 13mm
socket to tighten the factory bolts that hold the Bak-Pax plate to the
tailgate. Tighten these bolts in a cross pattern so the plate sits evenly on
the tailgate.

You may now install your Rotopax cans, auxiliary lighting and radio
antennas as desired.

Slide the license plate mount into the square tube receiver and tighten
down with the supplied wing bolt.

fA588

REBEL UFF RUAR

!‘

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



We hope you enjoy your new Rebel Off Road
Bak-Pax!

For a complete list of accessories we offer
for your Bak-Pax system, visit us at
www.RebelOffRoad.com

Be sure to REVIEW this product on our
website, and tag @rebeloffroad in any of
your social media posts using your new
Bak-Pax!

REBEL OFF ROAD | 23501 COMMERCE CENTER DR, SUITE A, LAGUNA HILLS, CA 92653
(866) 900-8841 | info@rebeloffroad.com



